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@ 90000 cm? = 9 m?
® 4.5m? = 450000 cm?

3 10m2 = 100000 cm?

@ 23m? = 230000 cm?

@ 35000 cm? = 3.5 m?



@D 0.75km?
® 80000a

3 100m x 3000 cm

@ 100m x 4000 cm

@ 25ha



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg
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@ 590kg © 4t

® 0.8t ® 570000 g




720yl 3.2ha 9] oA & 5.6t & AFAIAIL, WHYE 4.5ha
o] =oll A & 7920 kg & AAABIAZUTE 1a T A4 o= o]
2 kg o BEU7E?

®© 72, 1kg @ AL, 0.1kg

® ¥4t 0.01kg
@ "It 1kg ® ", 0.1kg
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AHk 100822t v 5037k FAE AAEY 5t oI5 AR
gt ZAHe] FA7E 30 kg o2 Hi @ GAHe] FAE= R kg A 75t
Ae,

B e kg



